BSEH Practice Paper (March 2024)

CLASS: 12th (Sr. Secondary) Code: A
Roll No.

W faameT

CHEMISTRY

[Hindi and English Medium]
ACADEMIC / OPEN

[Time allowed: 3 hours] [Maximum Marks: 70]

o PUIT FARYT R & 57 ge7 97 # Flad yo5 d&gr # 21 &
IR sGH 35 g9 &/
Please make sure that the printed pages in this question
paper are 21 in number and it contains 35 questions.

o o7 GF & &3 3N 3V T Fis FFGY F BI7 GaRT FR-YIETHT
& Ggel gvo GV fel@r ST afev)
The Code No. on the right side of the question paper should

be written by the candidate on the front page of the answer-
book.
o [FH FoT FT 36X eI YF FNel & Ugel IHPI FHIF [o1GAT F1TT

Before beginning to answer a question, its Serial Number

must be written.
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o 3Gl I GIETH H Gloll Geadl/Toet T S35/

Don't leave blank page/pages in your answer-book.

o IW-YRTFT & JIARFT @l =g ofic gl & S I
HTTeTHAER &1 feld T feld 3a% &I o FIc/

Except answer-book, no extra sheet will be given. Write to
the point and do not strike the written answer.

o GG YT el v g9 T GT HIeF o1&

Candidates must write their Roll Number on the question
paper.

o FYIT gl FT IR a7 & 9 Fg GlARTT F & 3 geT9d qof
g Tl &, qOaT 3 IWIT 39 G9€ H FiF 31 grar e TgT fFar
oATeIT/

Before answering the questions, ensure that you have been
supplied the correct and complete question paper, no claim

in this regard, will be entertained after examination.

AT fAger:
(i) T goaT fAard &
(ii) FEgless gos1 & &gl fabey fo1dd]
(ifi) T2F FoT & 3P I HiHA T T &
General Instructions.
(1) All questions are compulsory.

(ir) Write the correct option in objective type questions.
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(i) Marks of each question are indicated against it.

1. Which of the following is an example of solid solution? 1
a) Copper dissolved in Gold.
b) Glucose in water

c) Camphor in nitrogen gas

d)

fAFATaTgd & & i 91 olF [del&sT &1 Teh 3eTe0T §7?

a) dis & G # faerdst

b) GTell # Iofehlal

c) TSIt AT A FR

d) 3TH & T el

2. Value of Ky for a gas is: 1

None of these

a) Constant at all temperatures
b) Increases with increase in temperature.
c) Decreases with increase in temperature.

d) Increases with decrease in temperature.

T I & AT Ky &7 A

a) I dgAEAT 9T TR

b) ATYATT & Jef& & AT Focl &

c) dI9AT H Fefr & A uedl §

d) IT9AT F FET & GY gear &
3. What is Sl unit of conductivity?

a) S cm

b) S cm™
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C) S m
dSm’
ATelehdl I S| SHIS FAT g7
a) S cm
b) S cm™
c) S m
dSm’
4. Which of the following is an example of corrosion? 1
a) Tarnishing of silver
b) Rusting of iron
c) Green coating on copper
d) All of these
Tfaf@a & O ST ar G&Ror &1 T 3eeIuT 87
a) TIET I FEI3T glell
b) dlg H STT TITeAT
¢) AY T & W F AT @l
d) T gelr

5. Which of the following cannot be molecularity of a chemical

reaction? 1
a)0

b) 1
) 2
)3

O

d

fartatad & & 7 qaafas AR $r nfOaewar gt &
Hehdl 87
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0
]

o o
N

)
)
c)
d) 3
6. What is represented by A in Arrhenius equation? 1

a) Temperature

b) Frequency factor

c) Activation energy

)

d) Collision frequency

IR FHIRIOT F A GaRT AT 2T AT 82

7. Which of the following does not exhibit variable oxidation

state? 1
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c) Ti
d) Fe
8. Which of the following is a coordination compound of cobalt?
1
a) Vitamin B
b) Chlorophyll

c) Haemoglobin

)
)
)
d) All of the above

Afaf@a 7 @ Hiaar Fidlee &1 T 39T A &2

9. Which reagent is used in Finkelstein reaction? 1
a) NaCl

b) NaBr

c) Nal

d) All of the above

hahereerss dr afafhar & fra 3AfFeas 1 39aier fhar Sar
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10. Which of the following has the lowest boiling point? 1
a) Pentan-1-ol
b) n-Butane

c) Pentanal

)
)
)
d) Ethoxyethane

fArfafaa & & e Fauais ~geada §7?

a) Ueca-1-31Tel

b) n

c) geater

d) TATFHTdT

11. What is IUPAC name of cinnamaldehyde? 1
a) 2-Hydroxybenzaldehyde

)
b) 3-Phenylprop-2-en-1-al
c) 3-Hydroxybenzaldehyde
)

d) 3-Phenylbut-2-en-1-al

faedfesess &1 IMsUITEr A & 87
a) 2-gISsIadIdeol[o38153

b) 3-hiAelaIT-2-3+1-1-37eT

c) 3-grEEfFdaaifeserss

d) 3-Bficsge-2-8a1-1-31e

12. What is the type of isomerism between Propan-1-amine and

Propan-2-amine? 1
a) Chain isomerism

b) Functional group isomerism
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c) Position isomerism

d) Optical isomerism
Y- 1-0T 3R 90T-2-0AT & S JAGIAAT &l YR FIAT 87

a) AWl FATTIAA
b) fhaTcas Ty TATGIT
c) T&ufa gAggaar
d) 9T gATGIadr
13. Which of the following is not a disaccharide? 1
a) Sucrose
b) Ribose
c) Maltose

d
Arfaf@a & @ siaar sedduss 48 22
a) g

.

) TS
) AT
d) derE

14. Which of the following is involved in blood clotting? 1

)
)
)
)

Lactose

=)

O

a) Vitamin A

)
b) Vitamin C
c) Vitamin E

)

d
@a 7 @ Fid 9 & g 7 AT g2
a) faarfasa A

Vitamin K
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b) ferfdsT C
c) faerfd=T E
d) faerfdsT K
15. The question below consists of two statements: Assertion (A)
and Reason (R), answer the question by selecting the

appropriate option given below. 1

Assertion (A): Study of actinoids is difficult than the study of

lanthanoids.
Reason (R): Actinoids are radioactive elements.

a) Both A and R are true, and R is the correct explanation
of A.

b) Both A and R are true, and R is not the correct explanation
of A.

c) A is true but R is false.

d) A is false but R is true.

fFaAfa@d e & aF U g JFFAA (A) 3R FROT (R), T8
& A & 910 U Rereq &1 T+ gT 3R aifaw|

HADYT (A): UFEHATIS T IEATT ALAITS oh IHETTA H Hhol
gl

HRUT (R): Waearas aresf o ¢

a) A TR gl T § dUT R, A Fr Tgr <ar@r gl

b) AT R Al AT § dUT R, A FI Ter Ir@AT =Tel gl
c) A T § R R 34T &l
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d) A 3T § W R &7 ¢l
16. The question below consists of two statements: Assertion (A)
and Reason (R), answer the question by selecting the

appropriate option given below. 1

Assertion (A): Thiocyanate ligand can cause linkage

isomerism.

Reason (R): Ambidentate ligands results in linkage isomerism

in coordination compounds.

a) Both A and R are true, and R is the correct explanation
of A.

b) Both A and R are true, and R is not the correct explanation
of A.

c) A is true but R is false.

d) A is false but R is true.

fFafaf@a wead & e Fa §; JFFAF (A) 3R FROT (R), 92
& A & T IugFT fasheq 1 TI A §U W AT
AT (A): IAATAC foldles YT FHATTITAT HT HROT &oT
HehdT gl

HRUT (R): 3UASA Heldall o 39U lfAh A de=i
ATGITAT 915 ST &

a) A d R gldl @ § 9T R, A &I Tgr <ar@an gl
b) AT R Gl AT § dUT R, A FI Tgr I@AT =Tef gl
c) A T § R R 34T &l

10
Chemistry Code: A

Downloaded from cclchapter.com



BSEH Practice Paper Class: XII March-2024

d) A 3T § W R &7 ¢l
17. The question below consists of two statements: Assertion (A)
and Reason (R), answer the question by selecting the

appropriate option given below. 1
Assertion (A): Alcohols are readily soluble in water.
Reason (R): Alcohols form hydrogen bonding with water.

a) Both A and R are true, and R is the correct explanation
of A.

b) Both A and R are true, and R is not the correct explanation
of A.

c) A is true but R is false.

d) A is false but R is true.

faAfa@d wea & gF U g AFRAA (A) 3R FROT (R), T8
& oA QY 1T 3uFFT fahew 1 T A §U IR QA
HHDUT (A): Vohlgiel STl H e § gofarefiel gl 2|

®ROT (R): Uohlglel Ulell & ATY g3l TaE T &1

a) A T R Qi AT g dUT R, A Fr Tgr <ar@r gl

b) AT R gl §cg ¢ dUT R, A & T&r SIr@ar =181 g

)

c) A §I § R R 38T &
d) A 3T § W R &7 ¢l

18. The question below consists of two statements: Assertion (A)
and Reason (R), answer the question by selecting the

appropriate option given below. 1
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Assertion (A): When nucleotide is linked to phosphoric acid,

we get a nucleoside.

Reason (R): Nucleotides are joined together by phosphodiester

linkage.

a) Both A and R are true, and R is the correct explanation
of A.

b) Both A and R are true, and R is not the correct explanation
of A.

c) A is true but R is false.

d) A is false but R is true.

afaf@a 99 & g 4 & 31 P (A) 3R FROT (R), 927
& A &I T IuYgFT fasheq & TI A §U W AT

HASUA (A): S TGFelHIEISS BIEDIReR 3Fel & S5l g, dl g
=g fFel3ieSs fHerdr Bl

SRUT (R): sg[FeI3IcIss BIHADISEUEN Y GaRT Th gHl &
SIRECES IS

a) A TR & @cF § duT R, A & T @ g

b) AT R il AT § dUT R, A FI Tgr I@AT =1ef gl
c) A §cT § W R 38T g

d) A 3T § W R &7 ¢

19. Differentiate between ideal and non-ideal solutions. 2
e AR AT [FeTar & T AT F|
Or
JYgar
12
Chemistry Code: A

Downloaded from cclchapter.com



BSEH Practice Paper Class: XII March-2024

Calculate the amount of benzoic acid (C¢gHsCOOH) required
for preparing 250 mL of 0.15 M solution in methanol. 2
dealiseh 3 FT AT & 0.15 M Ao sa9= & faw
3TGRIS AT HI IA0EAT HITAT|

20. State Faraday’s law of electrolysis. 2
s & degd e & s fafau)
21.What is pseudo first order reaction? Give an example. 2

BeH TUH Fife AR 1 82 U 3rexor dfav

22.What are interstitial compounds? Why are such compounds

well known for transition metals? 2
HRreprell TR 41 8?7 58§ YR & Alfdleh TohaAUT 13t &
forT ool gk & AT 3t 872
23. Write a note on Wurtz reaction. 2
g&ot AR | T e fod]
Or
3gdar

What are ambident nucleophiles? Give an example. 2
JeTel AfFREN FIT Bl §? T 3aTexvr SIS

24. Write two uses of carboxylic acids. 2
e iFdTelsh el & &l JIdneT fafau|

25. Accomplish the following conversions: 2
o= aRaaar fasafea Hifee:
i) Ethanoic acid to Propanoic acid

TIHAISS 3F Pl WUAISH 3Fel &

i)  Nitromethane to Dimethylamine
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ATSCIAY I SISATINTAT H

26.An aqueous solution of 2% non-volatile solute exerts a
pressure of 1.004 bar at the normal boiling point of the
solvent. What is the molar mass of the solute? 3
oo s & 1A FaYUeAlh W Teh Iarsueiia f[deld & 2% STl
fderget &1 1.004 bar arq g« gl faorT &1 Al gegAT FT 87

27.The rate of the chemical reaction doubles for an increase of
10K in absolute temperature from 298K. Calculate E.. 3
WA, 298K H 10K T Jeftr gl W qarafass 3ifAfhar & qar
Il 81 ST &1 38 A&AfhAr & fov E, Fr aorar fifsiw|

28.What is meant by ‘disproportionation’? Give two examples of

disproportionation reaction in aqueous solution. 3
EATITA & 3T T FASIA 8?2 ST [qodeT H AHAGITA
HTATHATIN & <1 3eTeIoT AfSv|
Or
3gdar
Indicate the steps in preparation of K,Cr,O; from chromite
ore. 3

HIATSE 3EH T K,Cr,0; §aer & [Affe el &1 3ea@ Hifau]

29. Explain why haloarenes are extremely less reactive towards

nucleophilic substitution reactions. 3
AT o AffAeel gfaeads 3JfAfHIBT & 9fa gl 38
wA gfafraneiie 4t g
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30. Describe a method for the identification of primary, secondary
and tertiary amines. Also write chemical equations of the
reactions involved. 3
WA, gfadie Td Jodiae VAl T ggare i fafer @ qole
HITAT| o7 HTATHATIN & TEATAR AT 37 faf@T]

Or
3gar
Give plausible explanation for each of the following: 3
a7 dcds &1 HIfdd SRUT §d8T:
i) Why are amines less acidic than alcohols of comparable
molecular masses?
AT V] GedAlT dlel WAl Sl HFTcl Uoehlgial 4 HH
gl &l
i)  Why do primary amines have higher boiling point than
tertiary amines?
T VAT T Fadelieh Jaide VAT @ 38w giar gl

iii)  Why are aliphatic amines stronger bases than aromatic

amines?
AR Qe BT gee F YR e ae AN B
gl
31.Read the passage given below and answer the following
questions:
A feU v e A 9¢ IR AFAfaf@d veat & 3 &
An organic compound (A) having molecular formula CgHgO

gives a characteristic colour with aqueous FeCl; solution. (A)
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on treatment with CO, and NaOH at 400 K under pressure

gives (B), which on acidification gives a compound (C). The

compound (C) reacts with acetyl chloride to give (D) which is

a popular analgesic.

1UTide FF CeHeO TTell Ueh shldisieh TlfaTeh (A) STerd FeCly ol
& 1y Te fafdse T &ar &1 (A) &g H 400 K WX CO, 3R
NaOH & &I 39gR &l W (B) ST §, S 3Fallhiul W Tdh
i (C) &ar g1 Iiffie (C) taifeer FoIRIss & @y giafshar
F& A (D) ST & S Teh AT ey &

i)

i)

Chemistry

What is compound (A)? 1
i (A) a1 872
What is the number of carbon atoms in compound (D)?

1
2t (D) #F e A T FET = $?

Or
3gar

Write the name of compound (C). 1
Iiffs (C) &1 = faf@u|
What is the name of the conversion reaction of
compound (A) to (C)? 1
iffew (A) 1 (C) # gRafdd et T ATRTRAT &1 17 F2r
g?
Write one use of compound (D). 1

IGifdte (D) &7 T 99T ford |
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32.Read the passage given below and answer the following
questions:
T feu 9w e @ u¢ 3R Aefaf@a geEt & 3 &
Proteins are the most abundant biomolecules of the living
system. The chief sources of proteins are milk, cheese, pulses,
fish, meat, peanuts, etc. They are found in every part of the
body and form a fundamental basis of the structure and
functions of life. These are also required for the growth and
maintenance of the body. The word protein is derived from
the Greek word, ‘proteios’ meaning ‘primary’ or of ‘prime
importance’. Chemically, proteins are the polymers in which
the monomeric units are the a-amino acids. Amino acids
contain an amino (-NH,) and carboxylic (-COOH) functional
groups. Amino acids which are synthesised by the body are
called non-essential amino acids. On the other hand, those
amino acids which cannot be synthesized in the human body
and are supplied in the form of diet (because they are required
for proper health and growth) are called essential amino acids.
& e ST #F waifw e SR a9 3 | e &
HET A Y, Y=k, aTel, AT, A, Farhell 3T &1 I W &
W BE # 9w Ia § 3R Sfae & @xgen 3R st @ 1
Alfdls MR a1 &1 & MR T Jefr 3R 3reReror & faw o
IMTIF §l W Usg H FeAfd Ah ersg, "Nfead ¥ §3 &,
o 3 § wrafAe ar fdegcaqel | TEEEe ®9 &, Wée
W%mwma-ﬂmﬁmﬁl VAT 3ol H
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T (-NH,) 3R weEffFafess (-COOH) yerilcas aag g &

AT 3T ST R GaRT HRTNA 8ld 8, 3o6 IN-3MaTeh VHA!

HFel &gl Sl &1 qall 3R, 9 WA 3 foeg Aa iR A

RIS 8T fhar S Fehell § 3N IMER & &7 & IoAeh! 3T

S § (Fif 7 3T arey 3R Tem & fow 3maas §)

HTaeTH UHEAr 3Fe Fhgold &l

i) Why amino acids show amphoteric behaviour? 1

VHAT 315 3HIYAT cTdeR FT fe@ra g2

i)  What is the name of the linkage joining two amino acids?

1

ar VAT 31Fll T SSey aTer 3NeY T ATH FAT &7

iii)  What are polypeptides? 1
giTIITeISs AT g7
iv) Give an example of non-essential amino acid. 1

Teh M-31MaeTh VAT 37T FT 3ET8I0T &

Or

3gar
How many types of amino acids are found in proteins?
1

ST # Frae SR & el s AT o §2
33. Write the Nernst equation and calculate emf and A.G° of the
cell Mg(s)|Mg?*(0.001M)||Cu?*(0.0001 M)|Cu(s) at 298 K if E?

cell

is 2.70 V. 5
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dee Ao fAf@Tr 3R 298 K W Ee
Mg(s)|MgZ*(0.001M)[|Cu?*(0.0001 M)[Cu(s), & emf 3IR AG® &
auraAr fifae afe £2,, 2.70 V gl

Or

JUar

Conductivity of 0.00241 M acetic acid is 7.896x10° S cm™.
Calculate its molar conductivity. If A9 for acetic acid is 390.5
S cm? mol”, what is its dissociation constant? 5
0.00241 M UfAfesw 3 T aTcedehar 7.896x10° S cm™ §1 9T
AlOR dTeTehdl I IUTAT Y| TG CRATESH 3Fel & TAT Ay, HT Al
390.5 S cm? mol” &, ar 3T 3aeT e &ar g7

34. Specify the oxidation numbers of the metals in the following

coordination entities: 5
fArfafEd suggadsleT aar & argsn & 3TFATRIOT 3k T
3ol Y

) [Co(H,0)(CN)(en)z]*"
i)  [CoBry(en),]
iy [PtCl]*
iv)  Ks[Fe(CN)g]
v)  [Cr(NH;)sClg]
Or
37Yar

Explain on the basis of valence bond theory that [Ni(CN),*
ion with square planar structure is diamagnetic and the

[NiCl,]* ion with tetrahedral geometry is paramagnetic. 5
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TSRl et {eUid & YR W FASTST & If gAdeag
LI arell [Ni(CN)J* 3 9fdeeehid & aUr aqsherhid
SIA arerr [NiCl,J* 3 3eTdaehd B

35. Write structural formulas and names of four possible aldol
condensation products from propanal and butanal. In any one
case of cross aldol condensation, indicate which aldehyde acts
as nucleophile and which as electrophile.

5
Wdeiel 3 sPCeiel & Uoslel HElelel H Selol dlel & TR HHATAA
3cUTel & WA g3 AR A | R v Fra vestar dues
H §aw & #ia G Uesges af@swe gem 3k ST ar

SolaeieRT3T BIAM?

Or
Tadar

Draw the structures of following compounds: 5

afaf@a i S e e

i) p-Nitropropiophenone
p-ATS ST A3 ThIeATT

i)  4-Methylpent-3-en-2-one
4-AfRree-3-57-2-3

iii)  3-Bromo-4-phenylpentanoic acid
3-SIA-4-Bidedecaissh ool

iv)  p-Methylbenzaldehyde
p-Afedraifesess
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v)  3-Methylbutanal
3-AfeTeg Aol
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